Pvi=l1l Prnl=P P—-1=1
Pvo=P PAr0=0 P—=0=-P
PvP=P PANP=P 1—P=P
Pv-P=1 PAr—-FP=0 0—-P=1
-—-P=P P—-P=1 P—-Q=-PVQ
P—-Q=-Q——-P|~(P—=Q)=PA—Q

PAQ=QAP|PAQAR)=(PANQ)AR|PA(QVR)=(PAQ)V(PAR))
PvQ=QVP|PV(QVR)=(PVQ)VR|PV(QAR)=(PVQ)A(PVR))

-(PAQ)=-PV-Q|AN(AVB)=A
~(PVQ)=-PA-Q|AV(AAB)=A
4/\(ﬁAvBJ:(A/\B)
AV (-AAB)=(AV B)

MP MT Conj Simp
AiB A— B,-B A, B AANB
SooA SLAANB SA
S
Add DS HS
A AV B,-B A—B,B—C
s AN B SA LA—=C
Ul UG EG El
Ve W(z) W(t) Wi(t) dz W(z)
W@ | - Ve, W) | -, 3w, W(z) | - WD)
Ve W(z) =3z -W(z) —Jdz W (x = Vz -W(z)

Az (A(z) V B(z)) = A(z) VIz B(z) |Vz(A(z) A B(z)) =Vz A(z) AVz B(z)
Jdz (A(z) — B(z)) =Vz A(z) — 3z B(z) | Ve Vy W (z,y) = Vy Ve W(z,y)
dz Iy W(z,y) = JyJz W(z,y) -

Yz (CV A(z)) =CVVzAlz) |Vz(CAA(z))=CAVzAz)
Jz(CVA@Z)=CVIzA(z) |Tz(CAA ))—C’/\EIA(x)
Vz (C — A(z))=C —Vz A(z) | 3z (C — A(z)) =C — 3z Ax)
Vz (A(z) » C)=3z A(z) - C |z (A(z) —» C) = V:cA(z:) —C

Vz A(z) — 3z A(z) Jz (A(z) A B(z)) — Jz A(z) A 3z B(z)
Vz A(z) VVz B(z) — Vz (A(z) V B(z)) | Vz (A(z) — B(z)) — (Vx A(z) — Vz B(z))
JyVz W(z,y) — Yz Iy W(z,y).




